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57 | 09:30 |3 & @45 & = |5000M £ 54 FiE5 A
58 | 09:30 |9 5 w|80 & = |4 (1KG) £ 4 B4
59 | 09:30 |9 5 2|90 & = |44 (1KG) r 234,334
60 | 09:50 |~ (80 & |4 (0. T5KG) |i-%k |2 1 4, B 1 %
61 | 09:50 |~ w[85 & = |44 (0. TH5KG) |- 214,51 «
62 | 10:00 |3 = @ |M24 & = |[100M HVIRNEY Wi
63 | 10:03 |9 = @[25 & = |100M HVIRNEY Wi
64 | 10:05 |~ w|60 & = |4:3% (3KG) £ Q4 B9«
65 | 10:05 |~ w|65 & = |4:5% (3KG) £ 54 B5 X
66 | 10:05 |~ @|70 & = |4:3% (3KG) £ 14,5«
67 | 10:05 |~ @|75 & = |:3% (3KG) £ 4,51 «
68 | 10:06 |3 = @[30 & = |100M £ 54 FiE5 A
69 | 10:09 |3 = @|35 & = |100M E (244 RN
70 | 10:12 |3 5 @40 & = [100M TR I T
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71 | 10:15 |§ + 2050 k22 [4R4£ (700G) |+ % L 44,44
72 | 10:15 |9 3 @55 &2 [ (T00G) [+F B4 A B g A
73| 10:18 |§ F 245 &= |100M AR 104, 2 2, IR A
74 | 10:24 |9 + 250 &= |100M i RS X
75 | 10:27 |9+ 2|55 &= |100M A7 IR L I
76 | 10:30 |¥ &+ 260 K= |100M PEAFEI2A, 8 2, BEE A
77| 10:30 |§ F 250 ke (BB A T A BT A
78 | 10:30 |§ + =55 kE |BE i L 44,44
79 | 10:30 |F F 260 &= (B3 T x 34,34
80 | 10:30 |% & =|M24 &k 2 |ptig i 14,14
81 | 10:30 |¥ &+ 2|25 fk & |B+iE T L 24,2024
82 | 10:30 |¥ & 2|30 ke |BHiR i £ 34,34
83 | 10:30 |¥ &+ 2|35 k& |piE T £ 24,024
84 | 10:30 |¥ & 2|40 ke |BHiR A £ 54,04
85 | 10:36 |¥ & 2|65 pke |100M i 44, 8R4
86 | 10:39 |¥ & &|70 & = [100M T L T
87 | 10:42 |§ & 2|75 pk'e |100M i RS X
88 | 10:45 |% & 2|80 & = [100M T 1A &R A
89 | 10:45 |§ & 2|85 pk'e |100M i F1 A ZRLA
90 | 10:45 |9 & @|90 & = |100M - F1LAEBRLA
91 | 10:45 |¥ + 295 k= |100M T F1 A FRLA
92 | 10:48 |~ 225 k= |100M i x24,BB2A
93 | 10:48 |~ %230 &= |100M T 24, 8B24
94 | 10:50 |¥ F 2|25 & [ (8006) |- % 1A B 4
95 | 10:50 |7 & 2|30 &= [#4(800G) |- % 1A B A
96 | 10:50 |¥ + 2|35 &= |#%H#(800G) |+ 44, P44
97 | 10:50 |% & %25 ke |43k (4KG) - F 214,314
98 | 10:50 |*~ =+ 230 &= |43k (4KG) 7 L1 4,214
99 | 10:50 |~ 235 fk o |43k (4KG) i £ 24,2024
100 10:50 |* =+ =40 & = |47k (4KG) i £ 24,024
101| 10:50 |* & =45 p e |47k (4KG) i L 44,44
102 10:51 |~ 2|35 & = |100M i x34A,EFRIA
103| 10:51 |+ 3 @40 & 2 |100M R H2ABIE2 A
104 10:54 |~ 245 & = |100M i £ 34, EHR3A
105| 10:54 |~ =[50 f e |100M i L I
106 | 10:57 |~ 2|55 = |100M i F 24, FR24
107] 10:57 |* =+ 2|60 & = |[100M A7 =24, 8B2 4
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108] 11:00 [~ =65 g = [100M AE [E1 A EE] A
109] 11:00 |~ =75 g = [100M AE (214 BB
110] 11:00 |~ 2|80 g = |100M AE (1A BB
111] 11:00 |% =+ 2[85 g = |100M AE 214 AE]
112] 11:10 [+ 5 @[50 & & [SOMH(0.762M) |/-%  |# 2 4, # 2
113] 11:10 | 5 @[70 & & [SOMH(0.762M) |&% | 1 4, #E1 1
114] 11:13 [2 5 &[70 & & [SOMH(0.762M) |i-%  |# 2 4, # 2
115| 11:15 |7 5 240 fle [#£4£(800G) |+  |[£ 94,38 *

116] 11:16 | F wM24 & = [10OMH(O. 840M)[-%  |# 1 <, 1
117] 11:16 | 5 (35 & & [100MH(0.840M)[-%  |# 1 4, #E 1
118] 11:19 |9 5 260 & & [100MH(0. 840M)|i-%  |£ 2 4, g 2 4
119] 11:19 |7 3 265 & & [100MH(0. 840M)|i=%  |% 4 4, f 4
120 11:22 [ 5 @[50 & & [100MH(0. 914M)[/-%  |£ 6 <, & 6
121] 11:25 |7 3 2 M24 & = [1TOMHC0. 991M)|i-%  |£ 2 4, #E 2 4
122] 11:25 [ 5 @[35 & [110MH(C0. 991D % | 1 4, B 1 <
123] 11:25 |2 5 w45 & [1TOMHC0. 991D %  |£ 2 ¢, # 2 ¢
124| 11:50 |9+ w|45 few [#£46(8006) |- |46 4,56«

11:30 BH L4
KKK 11 220 %0 > 7y BB ~E S 0 XA R G F 4 52 RIGRA o KKK
REAR B ANFFES MW EFEEL SR EFRTAE
pRyrH s FRE o

12:00 R4 * BpFRE
121 30 3 + et S &

125] 13:00 |7+ 2[80 fe e [:3$(3KG)  [AF [ 34,53+
126| 13:00 |9 5 2[00 e w [4:30(3KG) [ | 24,224
127] 13:00 |7 5 224 A e |8 (2KG) |- F % 3 4,33«
128] 13:00 |9 5 2|30 ke |4 (2KG)  |[AF |2 24, B 24
129] 13:00 |9 3 2|35 & |4 (2KG)  |AF  |£ 64,56«
130 13:20 |7 & w45 k. |4:f(7.26K0) |4 %  |% 10 4,58+
131] 13:30 |3 & @ |M24 & = [400M AF [£34 B3N
132] 13:30 |7 = @30 &= |400M AF [E1AEELA
133] 13:33 |3 & @35 & = |400M AE |24, EE4L
134] 13:36 |9 = @|40 f& = |400M AF |E4AEgan
135| 13:39 |3 & @45 & = |400M AE |26 4, EiE6 L
136 13:40 |9 5 = |M24 f = |pr 3 AE |21,
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137] 13:40 [9 5 @25 e g3 £ A B 4
138] 13:40 |9 = (35 e |pt 21 4,5 4
139 13:40 |9 = 240 e |pt 3 £ 34,53 4
140| 13:40 |3 5 245 ke |33 24 A B4 A
141 13:42 |9 = =[50 f = |400M ETA BT A
142] 13:42 |3 5 @[55 & = |400M 2] A BB A
143] 13:45 |9 = 2|60 f = |400M 284 RS A
144 | 13:45 |9 & 2/40 f o |4 (2K0) £9 4 B84
145 13:48 |9 = 265 f e |400M BNy T
146| 13:48 |3 5 2|70 & = |400M £ OA EIED A
147] 13:51 |9 = 2|75 g e |400M 244 EP LA
148 13:54 |9 = (80 f = |400M 2] AR A
149 | 13:54 |9 = (90 f& = |400M 214 B A
150 | 13:57 | %= (25 g e |400M 2] A ER] A
151 | 13:57 | %= (30 f e |400M 2] AR A
152 | 13:57 | %= 235 f e |400M 21 A B A
153 | 13:57 | %=+ 2|40 f = |400M 2] AR A
154 14:00 | %= 2|35 ko |prid £ 94 B4
155| 14:00 | %+ 2|40 f o |prid £ 4,5 4
156 | 14:00 | &+ 2|45 fk o |prid £ 94 QA
157 14:00 | %+ 250 f o |prid £G4, 56 4
158 | 14:00 | %+ @[55 f o |prid £ 94 QA
159 | 14:00 | %+ 2|60 f o |prid £ 4B 4
160 | 14:00 |+ 2|65 f o |prid £ A B 4
161] 14:00 | %=+ 2|85 fk o |prid £ 4B 4
162| 14:00 | %= 2|45 g = |400M 204 B2
163] 14:00 | %=+ 2|50 g = |400M 214 R
164 14:00 | %=+ @[55 f e |400M 2] A B
165| 14:00 | %+ ©[25 f o |prid 2] A B 4
166 14:00 | %+ 2]30 f o |prid - E 14, 4
167| 14:00 |9 = w|M24 f& = [g53% (7. 26KG) |-% |2 3 4,5~ 3 4
168 14:00 |9 + 2(25 & o [a3(7.26KG) |7 |21 4,81 ¢
169| 14:00 |9 + (30 Az |43k (7.26KG) |7 |22 4,824
170 | 14:03 | % = 2|60 f = |400M 234 RS A
171] 14:03 |% = 2[80 f = |400M 2] A B A
172 14:20 |[% = 2[25 &= |1500M 2] AR A
173] 14:20 |+ =+ 2[30 g = |1500M BN T
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174 | 14:20 |~ =+ 235 #k = |1500M £3A,BHIRIA
175| 14:20 |~ =+ 240 #& 2= [1500M 1A, #B]A
176 | 14:20 |~ =+ 245 & 2= [1500M L2A, B2
177 14:20 |~ 250 #& = |1500M 4L BB
178| 14:20 |~ =+ 255 & 2= [1500M 1A, #B]A
179 14:20 |* =+ 2160 % = |1500M 24 BIR24
180 | 14:25 |% & =45 f& = |4844 (2KG) 64,0614
181 14:30 |¥ & 2= M24 # = |1500M E3ABHRIA
182 14:30 |5 =+ 230 & 2= [1500M 1A, #&B]A
183 | 14:30 |¥ + 235 k= |1500M 24 BIR24
184 | 14:30 |5 & 240 #& 2= [1500M E4 A ERLA
185 14:30 |¥ 3 &|45 & 2= |1500M ETAHRTA
186| 14:30 |% =+ 250 & 2= [1500M L3 A, EHBRIA
187 14:40 |% 3 %&|55 & 2= |1500M ETAHRTA
188 | 14:40 |% 3 2|60 #& 2= |1500M EHAHFHIEDHA
189 | 14:40 |% & 265 f& 2= [1500M EH A, EIBEDHA
190 | 14:40 |% 3 2|70 #& 2= |1500M 1A HBELA
191 | 14:40 |5 & 2|75 & 2= [1500M E2A,BBE2A
192 14:40 |% 3 2|90 #& 2= |1500M ‘ 1A HBELA
193 | 14:40 |% + 235 fk b= |&-2k (7. 26KG) |47 £ 3 A, B34
194 14:40 |9 3 240 #& = 477, 26KG) |4 L6 A,B~064
195| 14:50 |% =+ 2|50 k2= |44 (1. BKG) £ B A,B6 4
196 | 14:50 |¥ 3 2|55 & = 4844 (1. DKG) £ Hh A BH A
197 | 14:55 |* =+ ‘et #d#2|400 o> ¢ 34 Fo- o PERIE L
198| 15:15 |§F + |t #é w400 = = 3=+ N R
199 15:20 |% &+ 2|80 & %= |3&14£ (4006) £3

200 15:20 |§ + 2|90 &k = 4% (400G) £ 2

201 15:30 |5 & 245 ke Bk =5

202 | 15:30 |§ &+ 2[50 ke |k £ 7

203 | 15:45 |% =+ 2= |M24 #& = |5000M #4_ 1A ER] A
204 | 15:45 |* & 2|35 & % |5000M & 4_ 1A HBRLA
205 | 15:45 |* = 2|45 & e |5000M s 4_ E2A,BRE2A
206 | 15:45 |* = 2|50 #& % |5000M & 4_ 1A HBRLA
207 | 15:45 ¥ = 2 |M24 #& = 5000M s 4_ 1A ER] A
208 | 15:45 |§ & 2|35 & % |5000M & 4_ L2AHFB2A
209 | 15:45 ¥ & 2|40 #& = |5000M s 4_ 1A ER] A
210| 15:45 |§ + 2|45 %k = [H000M #4_ LE3AHBRIA
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211| 15:45 |9 + 250 = |5000M 4. |+ % 1A BRLA
212| 15:45 |7 + 255 k= |5000M 4. |+ % 224, BB
213| 15:45 |7 + 265 g = |5000M 4. |+ % 234, HE3
214| 15:45 |9 + 2|75 ke |5000M 4. |+ % 224 BB2H
47 250 (&E#p) 07:00 Fiegk?

BA|FRERE] e S F AL "‘i4ﬁ£

215| 07:30 |9 + 2|70 & 2= [#&4 (5006) |*-% £ 54 B 54
216| 07:30 |§ + 275 &kl &4 (5006) |+ % -5 4, B
217| 07:30 |~ + =255 ke |@&(1KG) |+ %k L 3 A, B34
218 07:30 |~ =+ 2060 &= @& (1KG) | F% 4 A B4R
219| 07:50 |* =+ 235 & %= |10000M - 1A, BB
220 | 07:50 |* =+ /40 & %= |10000M - 24, BiE2 A
221 | 07:50 |* =+ /45 & %= |10000M - 1A, BB
222 | 07:50 |* =+ /50 & %= |10000M - 24, BiE2 4
223 | 07:50 |* =+ =70 & %= |10000M - 1A, BB
224 | 07:50 |9 + 260 & = |10000M - £ 54, EIED A
225| 07:50 |¥ &+ 2|65 & = |10000M - =12 A4, HR 8 A
226 | 07:50 |¥ + 270 f& %= |10000M - LA BRI
227| 07:50 |¥ + 275 & %= |10000M - 24, FiE2 A
228 08:00 |~ =+ 225 ke |[H&(KC ) |[&F 1 4,514
229| 08:00 |~ -+ &35 k= |@&(1KG) |+ % 2 4,52 %
230 | 08:00 |* =+ |40 & = |44 (1KG) i 24,324
231| 08:00 |~ -+ &5 ke |@&(1KG) |+ % 34,534
232] 08:00 |*+ 250 & | (1KG) |+ % 5 A,B~5 4
233 ] 08:30 |7+ 225 ke |= mprid - 1 4,51 %
234 | 08:30 |7+ 230 ke |= mprid - ElA, B ] A
235| 08:30 |¥ + 250 &kl |43k (6KG) | % B4 A, PR
236 | 08:30 |7 + =255 ke &3k (6KG) | E% - 5 4, P54
237| 08:30 |¥ + 240 f e |= Bprid - 34, B34
238 | 08:30 |+ =45 ke (= Bprig -7 34,83«
239 | 08:30 |¥ + 250 f e |= mprid - 5 A,B5 4
240 | 08:40 |7 + =2/60 & = |4 (6006) |+ % TA, BT A
241 ] 08:40 |9 + =265 &= |4 (6006) |+ % 6 4,56+
242 08:50 |+ =+ =265 ke \B&(1KG) | 6 4,26«
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243 | 08:50 |*+ =70 &k = 4544 (1KG) 14,5114
244 | 08:50 |*+ 2[75 & = 4544 (1KG) £ 24,5214
245| 09:00 |5 + 2= M24 #& =10000M 24, BR2A
246 09:00 |5 =+ =25 & = [10000M F1 A, BRI
247 09:00 |5+ 2[30 & = (10000M F1 A BRI A
2481 09:00 |5 + =35 & = [10000M F1 A BRI
249 | 09:00 |5 &+ &[40 & = (10000M ETAERTA
250 09:00 |5 =+ =45 & = [10000M L34, BFRIA
251 | 09:00 |5 =+ %2[50 & = 10000M L2064, FHBEO6 A
252 09:00 |5 =+ =|55 f& = [10000M L84, FIR8 A
203 09:00 |* 3 & M24 /& e |35 ¥ BB £1 4,514
2541 09:00 |[*+ =25 ke ¥ ptB £ 14,214
205 09:00 |+ &30 ki IF¥HB £1 4,514
256 09:00 |+ =&4b ke HFFpB £ 14,214
257 | 09:00 |5+ 2M24 & e|#9 5 B+ 3 £ 14,214
208 09:00 |5+ 20 hle IF5XHB 44,544
259 | 09:00 |5+ 23b ke FFp3 £ 14,214
260 09:00 |5+ 40 kle IFFHB £1 4,514
261 09:00 |5+ 245 ke ¥ p3 £ 24,224
262 | 09:00 |5+ 250 &ke #FFp3 £ 34,234
263 | 09:00 |5 + 2Bkl #F¥p3 £ 24,524
264 | 09:00 |5 + 260 f&e #FFp3 £ 24,524
265 | 09:00 ¥+ &2[60 ke FFp3 £ 24,524
266 | 09:00 [§ + 270 &l 53 £1 4,514
267 09:25 |§ + =70 & = |4z (4KG) £ 44,544
268 | 09:25 |5 + =75 gk = |4azk (4KG) £ 34,234
269 | 09:30 |5 + 2/60 & 2 |4-3% (5KG) £ 10 4,28 4
270 | 09:40 | =3 240 &2 |= BpHE £1 4,514
271 09:40 | =3 250 &2 = Bprig H1AB] A
2721 09:40 |* =+ 285 A le = Bptik £1 4,514
2731 09:40 |5+ 2[70 &2 = Bprig £ 24,524
2741 09:40 |5 & 2|75 e = Bptik £ 34,534
275 | 09:40 |5 + 280 ke = Bprig £ 24,524
276 09:55 |§¥ + &80 g = |4z (3KG) £ 34,534
277 09:55 |5 + &85 &k = |47k (3KG) £l 4,514
278 09:55 |§ + =90 p& = |4k (3KG) £1 4,514
279 10:10 |5 =+ 250 #& = |400MH(0. 840M) |4 40 FR4A
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280 | 10:10 |¥ & 2|55 g = |[400MH(0. 840M)| A7 FLAHEBRLA
281 10:10 |¥ & =|65 pk &= |47 (5KG) R A
282 | 10:15 |% = 2 M24 £ = |400MHC0. 914M)| - % F3 A HEBIA
283 | 10:15 |F &+ 225 s sz |400MHCO. 914M)| 4 % 1A HELA
2841 10:15 |9 =+ =[50 pk = |47k (6KG) g Y44, B4
285| 10:15 |¥ & 2|55 pk = |4&zk (6KG) g R4 A B4
286 | 10:20 |¥ =+ 2|35 & = |[400MH(0. 914M)| A3 FILAHEBRLA
287| 10:20 |F = 245 s e |400MHCO. 914M)| 4 % 224 BIE2A
288 | 10:25 |¥ + 2|60 #& = (300MH(0. 762M)| A 7 F2 A HB2A
289 | 10:25 |¥ & 2|65 p = [300MH(0. 762M)| A7 1A HELA
290 10:25 |§ =+ 2|70 & = (300MH(0. 762M)| - 7 FLAERLA
291 10:30 |* = 2|70 #& = |[200MH(0. 762M)| A 3 FLAHEBRLA
292 10:30 |9 & =55kl |= Bprig A7 E1A,B 14
293 | 10:30 |§ + =60 &k & = Bprid i 44,40
2941 10:30 |§ + =|65 ki = BpriR A % 54,554
295| 10:30 |¥ =+ 2|70 & = |47 (4KG) i 34,34
296 | 10:30 |¥ & 2|75 k= |&-7¢ (4KG) R 34,534
297| 10:35 |~ =[30 & = [200M A F2A ER2A
298| 10:35 |* 3 (35 fk = |200M i FA4AERLA
299 | 10:38 |~ = 2|40 g = |200M - F3 A HBIA
300| 10:38 |~ =45 & = |200M A FA4AERALA
301 | 10:41 |~ =[50 & = [200M i F3 A HBIA
302| 10:41 |*~ 3 2|55 & = |200M i F3 A HEBRIA
303 | 10:44 |~ =|60 & = |[200M R F2A ER2A
304| 10:44 |~ =80 & = |200M A FLAEBRLA
305| 10:45 |¥ & 2|60 f = |4z (5KG) R 64,56+
306| 10:45 |9 & 2|65 p = |4z (5KG) g 44, B4
307| 10:47 |§ + = M24 # 2 (200M A F3 A HEBIA
308 | 10:47 |§ =+ =25 & = (200M - F2A ER2A
309| 10:51 |§ =+ ®2[30 & = (200M g F3 A HEBIA
310 10:54 |§ =+ =35 k&= (200M R FTAHEBTA
311 | 10:57 |§ & =/40 & = (200M g FO0 A HEBOA
312 11:00 |5 &+ 45 & = |200M 7 64, FHBO6A
313 | 11:03 |§ =+ =[50 & = (200M PREAEROA, S 2 FIREA
314 | 11:06 |¥ =+ 2|55 & = (200M . FAA ERLA
315| 11:09 |§ = 2|60 & = [200M PREAEEILA, S 28 BRES A
316 11:15 |§ =+ =|65 & = (200M i FO0 A HBOA
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317] 11:18 |9 = @[70 & = [200M 234 EiE3 A
318| 11:18 |9 = 2|75 & = [200M R T TR
319 11:21 |9 = /80 & = [200M 214 ER]L A
320 | 11:21 |9 & @[85 & = |[200M IR T A
321 | 11:25 |~ @[25 & = [800M £ «
322 | 11:25 |~ =[35 & = |800M £ 34, B34
323 | 11:25 |~ @[40 & = |800M £ «
324 | 11:25 |~ w[45 & = [800M £ ] X
395 | 11:25 |~ @[50 %& = |800M £ 34, B3«
326 | 11:25 |~ ®[55 & = [800M £ ] X
327 | 11:25 |~ @[60 & = |800M ) «
328 | 11:25 |7 + = M24 & w|sash (7. 26KG) [-%  |= 1 X
399 | 11:25 |9+ @[30 & = |shsp (7. 26KC) %  |& 2 «
330| 11:25 |7 = 235 & = |483% (7. 26KG) i £ 34 B34
331 | 11:25 |7 5 2|40 & = |43k (7.26KG) |-  |% 4 4,34 2
332| 11:25 |9 ®[45 & = |sa3f (7. 26KG) | £ 44 B X
333 11:30 |9 & @ N24 & = [800M £ X
334 11:30 |9 = 2[25 & = [800M £ «
335| 11:30 |9 + 2/30 & = [800M £ X
336 | 11:30 |9 =+ @[35 & = |800M ) «
337 11:30 |9 & 2]40 & = [800M £ 34 B34
338 | 11:30 |9 =+ @[45 & = |800M £ 5 «
339 11:35 |9 + /50 & = [800M £ 1] 4,58 «
340 | 11:40 |9 = @[55 & = |800M £ 44, B4
341 11:40 |9 = 2]60 & = [800M £Q 4 B8«
342 | 11:45 |9 = @[65 & = |800M £ 54 B b A
343 | 11:45 |9 5 @|70 & = |800M £ 34, B34
344 | 11:45 |9 + 2|75 & = [800M £ 4 X
345 | 11:45 |9 =+ @[80 & = |800M £ «
346 | 11:45 |9 + 2]90 & = [800M £ X




12:00 thi* BER
1230 FHE & iR st ¢

347| 13:00 |~ =+ 2|35 f& = |4&3k (4KG) i E1A,B~14
348| 13:00 |~ & =45 & = |4&3k (4KG) A7 24,24
349| 13:00 |~ + & & & w (1600 = ¢ &4 A& Fo- PR AER L
350| 13:15 |7 F w|s a4 [1600 2 < 24 b (Fw - PRI L
351| 13:20 |~ =+ =50 & = |43k (3KG) i 24,24
352| 13:20 |~ =+ &/55 & = |4&3k (3KG) T E 2 A, B2 4
353| 13:20 |~ 3 2|60 & = |4k (3KG) i E2A,B2 4
354| 13:20 |~ =+ 2|65 &k = |4&3k (3KG) i 3 A, B34
355| 13:20 |+ 3 2|70 & = |4&azk (3KG) i HE2A,B2 4
356| 13:30 |9 + & M24 fk = (3000M et &% 1A ER] A
357| 13:30 |¥ + 2|35 k2 [3000M e [iAF L4A HFRLA
358| 13:30 |9 + w40 ke 3000M et 7= F E2A,BRE2A
359| 13:30 |9 + 45 ke (3000M Fe & L34, HBEIA
360| 13:30 |9 + 250 ke [3000M et |7+ F 1A ER] A
361| 13:30 |9 + 55 ke (3000M et |i& % 1A ER]A
362| 13:45 |~ =+ 2|50 k= [2000M e [ F 1A HBELA
363| 13:45 |~ + |70 & 2 [2000M et [AF 1A HBRLA
364| 13:45 |§ + 2|60 & = [2000M e [iAF L34, HRIA
365| 13:45 |F + |65 k= [2000M et [ F E2AFB2A
366| 13:45 |§ + 2|75 ke [2000M e [iAF 1A HBELA
14:30 BPHRsps i g3 ~~ew> R4 EE
B ge AFE 2 (107 910 p &40 £3)

See You again 3 & 9% 6
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